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����������� 1	� ����� �	� �
������ #��	����� ��2�	���� 3������	���� �
�
 Ip ��� �	�
��� !������	������� Tp(S) ��� ��������� ������ S ⊂ R

3 ��	�� �	� ����� �����	����
���	

�
� S 	� p ∈ S4

Ip : Tp(S) → R; w �→ Ip(w) = 〈w, w〉p = |w|2 ≥ 0.

��	�
���
� �� 	�� �
� 5��"��� �	� ����� �����	����
���	 	� ��� "� �	��� ����
��
��	�	����� �(u, v) ��	 p ∈ S ���
"		����� ���	� {�u,�v} ���"��������� 1� �	� !���������
����
� w ∈ Tp(S) !������������
� �� �	�� .���
���	�	���� '���� α(t) = �(u(t), v(t)), t ∈
(−ε, ε)� 	�� 
	� p = α(0) = �(u0, v0)� ������ 
��

Ip (α′(0)) =
〈
α′(0), α′(0)

〉
p

=
〈
�uu′ + �vv

′, �uu′ + �vv
′〉

p

= 〈�u, �u〉p (u′)2 + 2 〈�u, �v〉p u′v′ + 〈�v, �v〉p (v′)2

= E(u′)2 + 2Fu′v′ + G(v′)2,

�
��	 �	� (���� ��� ������������ �����	
��� ��� t = 0 ��������� ������� ���

E(u0, v0) = 〈�u, �u〉p , F (u0, v0) = 〈�u, �v〉p , G(u0, v0) = 〈�v, �v〉p
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3 "� ��"	�����

�
 	�� �	� �
�������� s �	��� .���
���	�	����� '���� α : (a, b) =: J ⊂ R → S �����

s(t) =
∫ t

0

∣∣α′(t)
∣∣ dt =

∫ t

0

√
I(α′(t)) dt

�������� 7�� 	
 �.�"	������ α(t) = �(u(t), v(t)) 	� �	��� "�� ����
���	�	����� �(u, v)
���8������ '

��	������
������ ���������� �
 �8����� �	� �	� �
�������� �
� α� "���
"�	����� 0 ��� t� ��������� �����

s(t) =
∫ t

0

√
E(u′)2 + 2Fu′v′ + G(v′)2 dt.

���� ��� (	���� θ� ����� ��
 �	�� "��	 .���
���	�	���� �������� '����� α : J → S,
β : J → S ��	 t = t0 �����	���� 	�� ������� �����

cos θ =
〈α′(t0), β′(t0〉
|α′(t0)| |β′(t0)|

7�����
����� 	�� ��� (	���� ϕ "�	����� ��� '

��	����������� �	��� ����
���	�	��
���� �(u, v)

cos ϕ =
〈�u, �v〉
|�u| |�v| =

F√
EG

;
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��	����������� �	��� ����
���	�	����� ����� ���� 
���
�
��� �	���
���� F (u, v) = 0 	�� ��� ���� (u, v)� �
��� �	�� ����
���	�	����� ��	�� ���
�����
� �����
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����������� �� ��	 R ⊂ S �	� ������������ ��������
������ #��	�� 	� �	��� �����
����� ������� ��� 	� �	��� '

��	������
������ ��� ����
���	�	����� � : U ⊂ R

2 → S
��������� 	��� 1	� .
�	�	�� 9���

A(R) =
∫∫

Q
|�u × �v| du dv, Q = �−1(R),

��	�� �
��
����
�
� �
� R�

��	�
���
� $�� ������ ����� ���� |�u × �v|2 + 〈�u, �v〉2 = |�u|2 · |�v|2� �������

�� ��� 7���������� �
� A(R) ��� |�u × �v| =

√
EG − F 2 �����	��� �����
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